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t=[0:0.1:10];
[y,x,t]=step(num,den,t);
plot(t,y);
grid;
xlabel (' Time') ;
ylabel('y');
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t=[0:0.1:10];
num=[1];
den=[1,1,17;
[y,x,t]=impulse(num,den,t);
plot(t,y);
grid on;
xlabel("t') ;
ylabel('y');
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num=/[1];

den=[1,0.3,1,0];

t=[0:0.1:107;

c=step(num,den,t);

plot(t.c);

grid on;

xlabel("t") ;

ylabel('Input and Output’);
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5.6 P MATLAB 22 & &t 4 38 45 P ith 2k

MATLAB # £ R 58 T 24T BAT 5 10 2k i 22 22 e il o) #r D a2 2002 4k B DL A%
128 PR B T BERRAE B9 28 SR T R IR 25 5 1) Dy 2 BERRAE B AR W rh 9 R g ) A

5.6.1 F MATLAB 4% 2% F I3 E50 R 45 M dh £

AR PR TE 28 ML ) L o5 R A b A ] MATLAB #2455 % J 5 2 s 0T 5 3
b bR A A T ) — S g 1 A S BRI R GEAR S T RE R 0 B LB, X2 7E MATLAB 45
A 07 K AT REAAL B R AR S8 T T .

XFESE RS, MATLAB bR 5022 il 2 58 TF 508 60 B0 53R 45 M (1) R 850 ar 2 0 4% =X
mr

Bode(sys);
Bode(sys,w) ;
Bode(sysl,sys2,+,sysN);
Bode(sysl,sys2,++,sysN,w) ;
[mag,phase,w]=DBode(sys) ;

Bode O bR ] T35 9 il 75 42 1 I O 78 28 492 114 TF 24 X0 B0 4 (&1 5 98 JH 22 J7 TG Hn 78
I SR Y H DR G0 TR 1 2 ) o ek EOn] T SISO 5 MIMO (1) 3% 22 I [A] £
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P AR G TE T DR R = 30 R IR U O o B BREL P81 Bode (num., den) pR
eSS

i) R G0 AR 1T A 42 W A T P I AT SR i 4 7 1 B MLSCPR I XL e A R A
PR T IRTAE 22 8 PR L BT RS S0 O W AR 1 i £ A ME s X R O IR R AT IR ZE
AHKEH . R MATLAB ) BodeO) pR %2 il i 42 i 22 G410 12 141 D) 2 BOE0RS 1 HL 56 WL A 1 5
ik .

B15-13  RLHEGHH G =55 0

mlﬁ@m%@9ﬁ¢ﬁﬁiﬁ§ﬁ ¢ BB 3 5
0.1.,0.2.,0.3.0.5.0.7.1.0,
8 MATLADB # )7L

ks=[0.1,0.2,0.3,0.5,0.7,1.0];

om=10;

for i=1:length(ks);

num=om" om;

den=[1,2"ks(i) " om,om" om|;

Bode(num,den) ;

hold onj;

end;

grid;
Al ZRAG PR 35 P 1 B AR A P n 1 5-43 IrR .
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A AR )
[Gm,Pm,Wcg,Wcp ]=margin(num,den) ;
[Gm,Pm,Wcg, Wcp]=margin(mag,phase,w) ;
Hor o Ay AP A T X6 I (94 A 25 AR e 1) e 20 A v AN 7S B 5 B margin O pR AT 7E Y
T 7 T A s o) R DG AR E AR B R TR A
Bl 5-14 O FIFE IR R G nY 1% 3 R B

G=— 1

$40. 45+1
ORI R G A 4 B A a5 i i
i MATLAB &7 T
num=/[1];
den=[1,0.4,1];
Bode(num,den) ;
grid;
[Gm,Pm,Wcg,Wcp ]=margin(num,den) ;
BATIE A% RGN R E AN 5-44 Fit 75 . margin bR E0R WE % U] & 58 093 45 0 2 GM
=Inf, fHA7 #r it PM=32. 8443, X N (45 2 {6 A wo, = Inf.w, =1. 3567 rad/s, 511178 K &
A3,

Bode Diagram
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Phase/deg
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B MATLAB §5 AR i AT LUAR J7 158 3 70 A 2 58 09 PR 3R IR0 3R e 1k . A L 38 T AR
H1 evalfrCsys . £ BREOR 7545 i 5 58 5090 3 i i R B4 R freqresp Csys. w) pRECT
SEARAEI A (LTD X QAL SR KL o AR E H e H Oy R AR R 0 ) i
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JH MATLAB bR £ 2 i 22 G0 TT B0 i AH AT AR 1 1) ek a2 8 A X R
Nyquist(sys) ;
Nyquist(sys,w) ;
Nyquist(sysl,sys2,-+,sysN);
Nyquist(sysl,sys2,++-,sysN,w);
[ mag,phase,w |=Nyquist(sys) ;
1 A 2 ke BRBCPT LR 45 5 i SR il ih LTT R B iaeth & . R 2k
il 0 AT DU T 43 B 45 ) 2R e AL AR AL 4 i 1 a5 4 R PETE N I R GE R PE L Y IR T A2
5 e K AR e I e 2 ST pR R S TE Y AT T 1 b B H 4 o D A% 2 0 RE T A R R A R R
HIES
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Nyquist(G) ;
hold on;
title('Nyquist E") ;
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title('Nyquist B ;
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